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Question Number : 1 Question Id : 3354725631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is Indira Gandhi Rashtriva Manav Sangrahalya situated? | STexT Tt TP A GUgTET Bl w0 57

Options:

1. % Delhi | T&eat

2. ¥ Ehopal | {07

3. * Lucknow | @ETS
4. ® Kolkata | ®a@e@T

Question Number : 2 Question Id : 3354725632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which city has Bina Refinery, also known as Bharat Oman Oil Refinery, a joint venture between Oman Oil
Corporation and Bharat Petroleurn Corporation? | @i & g # e ReTa=et § o 9 siar de Wemg=er & = 8 4t
AT AT &, ST STs B S TR Ug o d I & & U GW S2d 57

Options:

1. % Chanderi | =&t
= ¥ Sagar | 9T

3. % Satna | 9aqr

4. % Ujjain | =

Question Number : 3 Question Id : 3354725633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

REarndhari 3ingh Dinkar was honoured with the Jnanpith Award for which one of the following books? | TR
g Toa @t FefeieaT geaet o & fradr fou Smdis e § |- e mar ar?

Options:
1. % Kurukshetra | F&ga
2. % Urvashi | 324t

3. #® Parashuram Ke Pratecksha | WO & waTgm
4. % Hunkar | g#K

Question Number : 4 Question Id : 3354725634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Eaghelkhand liesinthe ________ part of Madhya Pradesh. | Tuevds Hea nea &

Options:

1. ¥ north eastern | 39 9@l
2. % gouthern | &R

Z. % northern | 39T

4 % western | UREEHT

Question Number : 5 Question Id : 3354725635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Tational Youth DE[“}.F’ 15 celebrated on
AT AT 8]

Options:
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1. % 12th January| 12 J9der
2. % Zrd January 3 A0

% % 20th January| S0 F9der
4. % 21st January/ 21 F9ar

Question Number : 6 Question Id : 3354725636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which famous Indian journalist was recently shot dead outside her house in Bangalore? | &g IR 1 o3& &1
A 5f # AR # S O o I1Ee MET AT SF T8 2017

Options:

1. # Sagarika Ghose | GHTET OF
2. % Barkha Dutt | @%@ qd

Z. % Sonali Singh | ST T

4. % Gauri Lankesh | T @

Question Number : 7 Question Id : 3354725637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who iz%ge first Indian cricketer to take a hat-trick in an ODI match? | ST f=r | STew &9 O Uge 9 =

Options:

1. % Kapil Dev | T &

2 % anil Kurnble | s1fa g

3 % Kuldeep Yadav | Foed a1
4 % Chetan Sharma | =a+ amf

Question Number : 8 Question Id : 3354725638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who was the Chief Guest at Republic Day parade of 20177 | 2017 & T0aa fGad We § geg o i a9 47

Options:

1. # Shinzo Abe of Japan | 0T & T84T 3!

2. % Francois Hollande of France | 19 & @ Ed e

=. % Salman Bin Abdulaziz A1 Saud of Saudi Arabia | TFET SR & AR fe SEgrAsMIH 6 938

4« Crowm Prince Mohammed Bin Zayad Al Nahyan of UAE | 9% eRd SRS & W3- U AIEFAS, o g, afd
EIEEIE]

Question Number : 9 Question Id : 3354725639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the boundary line between India and Pakistan called? | YR o UTTFEd T @ i HHT 47 F1 T Fed 27

Options:

1. % Macmohan Line | #FHgA &7
2 % Mountbatten Line | AT3esd &7
z. ¢ Radcliffe Line | YETaaw @

4. ¥ Dalhousie Line | Sz a7
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Question Number : 10 Question Id : 3354725640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

which one of the following Eglat;es is famous for Chikankari work, a traditional art of embroidery? | FgRET
I H & T AT G, T8 ol URUTCE Hell, el o B0 & o] Hiekg 57

Options:

1. ® Hyderabad | e0aE
2. % Jaipur | ST

3. ¥ Lucknow | @@

4 % Mysore | AT

Question Number : 11 Question Id : 3354725641 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The irnportant latitude that passes through Madhya Pradesh is

_______ . | FEAES IR T SR | Fgeedu STy

Options:

1. % Tropic of Cancer | @ =T

2. % Tropic of Capricorn | Wee &7
3. % Equator | 9Eed @m

4, % Arctic Circle | shie® g9

Question Number : 12 Question Id : 3354725642 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Pandav Falls liesin ______ | UET SR H e
Options:

1. ¥ Pench National Park | U= 91 J&m

2. % Ghogua Fossil Park | ST Siared 3@m

=, ¥ Panna National Park | ogT T8 J&0m

4. % Madhav National Park | AT T 3249

Question Number : 13 Question Id : 3354725643 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The Sun termple of Shivpuri is at

Options:

1. ¥ Sesai | 4ETE

2. % Sursaya | goarEm
= % Sahvadri | SR
4, % Raghogarh | T

Question Number : 14 Question Id : 3354725644 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which district of Madhya Pradesh is the Sanodha Fort? | T ndar & e e o g i g7

Options:
1. % Sagar | 9T
2. % Tikamgarh | S1ATS
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3. % Khandwa | @igar
4. ¥ Chhindwara | fzae=T

Question Number : 15 Question Id : 3354725645 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the highest civilian award given in India? | 9RaT ® 2T S aTaT Haig] AT [REER 1 a1 87
Options:

1. % EBharat Ratna | ART 7o

2. % Padma Bhushan | Ws7 @0

= ¥ Padma Vibhushan | w3 feRqEor

4. % Rajapath Award | TR0 QOERT

Question Number : 16 Question Id : 3354725646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MNarre the main fort in the district of Barwani . | SgamT Mol § T2 g Tt 1 910 15
Options:

1. % Fort of Sendhwa | He@T @7 e

2 % Fort of Mandu | #ig %71 FFar

3. % Fort of Dhar | oW @7 Tee

4. % Fort of Bhawargarh | ¥IESTg &7 e

Question Number : 17 Question Id : 3354725647 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

India's first Bio-CNG plant producing CNG from agricultural residue is located ir: | 17 Srerdt § Hiu==it a==
ATAT T T WTH AeT-H U1 TeAle 5T 62T &

Options:

1. ¥ Madhya Pradesh | Teawaar

2. ® Jharkhand | SINEE

3. ¥ Maharashtra | AERIE

4 % Telangana | damm=T

Question Number : 18 Question Id : 3354725648 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Kudankulam Nuclear Power Plant is located in | FEAGAR AR T aie T

Options:

1. ¢ Tarmil Nadu | Tiag

2. % Gujarat | =T

% % Madhvya Pradesh | Feawdar
4 % Uttarakhand | FT0™Es

Question Number : 19 Question Id : 3354725649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Name the %gmple constructed by Prithwiraj Chouhan in Bhind district. | g et # g =@itge & gry AT Aleg
T ATH F4T &
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Options:
1. ¢ Vankhandeshwar Ternple | gT@29@X Higt
2 % Mata Renuka Ternple | ATAT (0T ATGT

% % MNarad Dev Temple | ARg & AT
4, % Neelakantheshwar Temple | TiA@ &R AT

Question Number : 20 Question Id : 3354725650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who among the following was NOT a recipient of Vishwarmitra Awards - 20157 | FEeTET 8 @ 19 i
R - 2015 & UEEdr

Options:

1. % Sunil Kewat | A Pae

2. % Mohan Shakya | AlgT amag
3. % Sachin Kasture | Sk el

4. ¥ Anjali Vashishth | Sl aidm

Zeneral Maths and General Aptitude

Section Id : 335472144

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I d: 335472144
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354725651 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the digits 1, 2, 3, 4 and 9 are each used once to form the smallest possible even five-digit number, then the
digit in the tens place is ____ [ g 1, 2, 3, 4 # 9 Uedw o Tgan | AW Tt ST 12T T o T 3 Tely Uk &
U R A § aT e R & g

Options:
1.¥9
= %4
3. %3
4 #® 2

Question Number : 22 Question Id : 3354725652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

16th Dec 17 Shift 2



16th Dec 17 Shift 2

The rational nurmber equal to the repeating decirmnal 0.279279279.... is: | [A0ET S9Hed 0.279279279... @&
HHT OICHT T 3

Options:
1. % 279)1000

2. ¥ 217111
3. % 2797100
4. % 217100

Question Number : 23 Question Id : 3354725653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In a right angled triangle ABC right angled at A, £F = 40°_ If M is the midpoint of the
hypotenuse BC, then ZAMC =? /HH$IUT HhI0T ABC H§ A U HHBIT %L d 2B = 409

gfe #of BC &1 A= fdeg ME, @l zAMC =7
Options:

1. % Ot

o o B0°

= ® 500

4 % 70°

Question Number : 24 Question Id : 3354725654 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
(4x*+ 3x+ 1) — (2x* +5x—2) =7

Options:

| 2x2-2x+3

2%t 2%+ 3
Dxd+2x -3

2x-Ix-3

Question Number : 25 Question Id : 3354725655 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the average. | sf|g Faiem

37,42, 14, 13, 18

Options:
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1. ¥ 26
2 % 24
3% 22
4 % 20

Question Number : 26 Question Id : 3354725656 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following cannot be the exterior angle of an 1’ -sided regular polygon? | 49 # & @19 &1 ‘0’ -waftar
qH SR T AR AR 5 HehdT?

Options:

1 % 10°

18°

36°

4 @ 50°

Question Number : 27 Question Id : 3354725657 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find the value of 5x% -7 at x=2. [ x=2 9 5x?-7 &l Ald Ald H
Options:

1.9 13

2. w27

3. % 37

4 % 17

Question Number : 28 Question Id : 3354725658 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If the perirneter of a rhombus is 65 cm and one diagonal 15 Z0crr, then the ares of the rhombus in 5Q.CIMiS: |

ot e AT & UNETT 68 HHT o U et 20 #9t 2, 91 arf 4t ¥ wnagds @ §9d
Options:

1. % 360

z ® 320

3. ¥ 280

4.+ 240

Question Number : 29 Question Id : 3354725659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is the next nurmber in the given sequence? | Ta3 = SFgwE o STHT HE2T F4T 57
15, BE 24 &5, =2, 81, 42, 94

Options:

S ——
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1. % 60
2 ¥ 5l
3. % 107
4 % 120

Question Number : 30 Question Id : 3354725660 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The nurmber of students in 2 roorms is 128, The ratio of the number of students in room 1 and 2 is 24 and

room 2 and 3 is 7:5. Find the nurmber of students in the first room. | 3 FA< # fE=mi@t &1 @&a1 138 31 1 #K 2
FHC H TerEridt & T W arguT 34 B Ud 2 8% 3 W H et d S @ seuTd 705 5w wEe H T T
T AT T

Options:

1. % 40

o ® 5B

W42

4 ® g2

Question Number : 31 Question Id : 3354725661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Anu and Vinu can cormplete a worls together in 5 days. Anu alone do the same job in 10 days. How long will

%%I%gcom %%@#%?%T%@WE Tt o @l ot o @ w81 arg ard! 99 & @1 10 At d @
Options:

1. % 3days |3 7a

2 % gdays |8

= ¥ 10days | 10 =

4 % gdays j 6T

Question Number : 32 Question Id : 3354725662 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Kurnar tried his skill at shooting at a fun fair. He has to hit the target and if he hits the target he gets 1 BEs. and
if he misses he has to pay 50 paise. He atternpted 25 shots and won 10 Bs. In how many did he hit the target?

| PUR = 0 Hel H AT 0% S0 e @7 SITTHT T RT3 B 39 A5 & U7 & S id 95 A # dgars 91 99 1
mwg@wsﬁ?aﬁagzgﬁw%ﬁaﬁm T 2 g 39 25 Trem /el 2T 10 #0 =Atd) 39+ fra gt &7 e
T 2

Options:
1. % 10
2. ¥ 15
2% 18
4 % 20

Question Number : 33 Question Id : 3354725663 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The efficiency of & is twice that of B, & completes a work in 9 days lesser than taken by B. How many days will

& alone take to cormplete this work? | A H FAGAITE A ST 5] & UF & #TE & 9 To @0 & qof @ 2371 8| oo &k 1
TR e 1 arhel A aﬁ@mﬁﬁ?aﬂﬁ? o

Options:
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1. % 12days | 12 =&
2 % 10days | 10 A
= ¥ adays | 9t

4 % 13days | 13 TA

Question Number : 34 Question Id : 3354725664 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The age of father 15 vears ago was twice the age of his son. Five vears hence, the father's age will be 1.5 times

that of his son. The respective ratio of their present ages is: | 15 ¥ qdf U1 & T I 73 &1 Mg & #h T anf
AT TR & S 3=k OF & A # 1.5 AT R mmmmaamgﬂum EmTFg S

Options:

1.%11:5

=¥ 11:7

%2

4. % None of the above | 39g® § & ®1E 51

Question Number : 35 Question Id : 3354725665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If 4x8 — 2x5 + Bx*- 3x3— 4x2 + 7 is divided by x+1, then the remainderis . /3T 4x8 -

2x5 + Bx%- 3x3— 4x2 + 7 T x+1 g@rT fAefaa foar Srar g, ar duwnd 2l

Options:
1. ¥ 18
2. %7
3. % 15
4 % 0

Question Number : 36 Question Id : 3354725666 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A bag of weight 36kg contains 8 balls of equal weight. If 2 balls are remowved from the bag, then what will be
the weight of the remaining balls? | 36 0T o= & UF et § GATF =9 &1 5 112 81 I dar & 3 12 e ST 9t 8, a1
3y Tt T T T g

Options:

1. % 1Skg | 15 fom

2. % 2gkg | 26 ToFT

3. o 22 Ckg | 22.5 fFT
4. % 10kg | 10 ToFmT

Question Number : 37 Question Id : 3354725667 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

If the numerical value of the volume of a sphere is equal to its surface area, then the radius inunitsis ____ |
It U T o TS &7 TEGcHE BT J0% T8 T 8306 & aila] &, 91 S 59 § T ___ 7l

Options:

1.% 1

2 ¥ 3
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3. %5
4 ® 7

Question Number : 38 Question Id : 3354725668 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The number 7386038 is divisible by: | %1 7386033 g v Awea 2
Options:

1. % 3

o % 4

3 %9

4 v 11

Question Number : 39 Question Id : 3354725669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Il a pet shop there are 100 pets, out of which 50 are Ccross breed variety. What is the probability that a cross

bred pet is selected when chosen randormly? | UF wapaft T H 100 Ty § T & S0 T TEA T 5]
a@ﬁmwmwwﬁwm%%ﬁmmwﬁﬁﬁ@? & e

Options:

bt | =

Lad | s

i
#
| =

Ly | =

Question Number : 40 Question Id : 3354725670 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& man can row at & kmh in still water. If the speed of the stream is 1lkmjh and it talees 1 b to row to a place
and corne back, then how far is the place? | rﬁﬁ?ﬂﬁﬂﬁﬁ S AT ST | AT AT AT 8l TS AT & T 1
Tepe Ty eieT 7 &I ToRell T qf +A7el T S e ST | 1 ST &1 g, a7 S o= 92 37

Options:

1.9 2 4km | 2.4 Tor
2 % 25km | 2.5 foFAm
3 % Zkm | 3 A

4 % 26km | 3.6 fFAv

Gereral Hindi
Section Id : 335472145
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Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472145
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354725671 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

o o T SR A -
Options:

1. ¥ TTefeq

2 % Ty

3 % g

4 # HEr

Question Number : 42 Question Id : 3354725672 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
SITg[T TeT & forer Toifer a7 fererar gam?

Options:

1. % Tm= @
2. & T

3. % el E
4. % wWHET

Question Number : 43 Question Id : 3354725673 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

WTHT T Gardl BIeT HiREw ST Heardl & -
Options:

1. % guf

2 % geg

3. % Oy

4. v

Question Number : 44 Question Id : 3354725674 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

g Teg o Fore wam & STyl 27
Options:

1. % greg Hereft
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o % U et
3. VT et
4. % T et

Question Number : 45 Question Id : 3354725675 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

TRy aleg © T T WRIT AR1 27
Options:

IR -t |

= % T

3% o

4 % Hig

Question Number : 46 Question Id : 3354725676 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘T W U aaE e ' # e AT e

Options:

1. % oo
2 % qyuid
3% T
4 & T

Question Number : 47 Question Id : 3354725677 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
AT T EeET o T T o W A U geg 27

Options:

1. ® T
2. ¥ faamr
3. % o
4 ®

Question Number : 48 Question Id : 3354725678 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘T W A e e A g e ar e
Options:

1. % ok +7F

2. ® U +UE

3. ¥ gwmUw

4 & TF-+TE

Question Number : 49 Question Id : 3354725679 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘AT W A feg ME H T HTATE?

Options:
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1.9 gid
2. % ggdt
3. % Fadr
4 % Fgd

Question Number : 50 Question Id : 3354725680 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘T T AR e PR A g AT g?
Options:

1. % gt

2 % gt

3. ¥ gk

4 % gwid

Question Number : 51 Question Id : 3354725681 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

T AT W T g FEH A FTEY
Options:

1.9 3o

2 % 7t
3. % g
4. % Tl

Question Number : 52 Question Id : 3354725682 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘a7el H ARer HETal @ ol Mg A F @ AT Er

Options:

1. ¥ % AT @ERT

2. % Tt @ HEnT

3. % a7e o gTT o AWS T
4 % ZZHTHZET

Question Number : 53 Question Id : 3354725683 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A H A FAT G ar e Fe A g wm argy

Options:

1. % a1Péeg tawT AT
2. % am g

3. ¥ T wAT

4. F AT FTAT

Question Number : 54 Question Id : 3354725684 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
o W g T FE  E EE AT ge
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Options:
1. % &g
=z g
3 v g
4. % gEg

Question Number : 55 Question Id : 3354725685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ae ATH ~=dd G'JT\JH-H

TeH T AT
= it | ﬁﬁaﬁ:rmﬁtr%?

Options:

1. % dhea
= % dedHrd T
3 % I

4. & R

Question Number : 56 Question Id : 3354725686 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong' 0

TlaAT THeT =TE Tagat E

H @19 |7 SIAE 51 957 g7
Options:

1. ¥ ww fAwe

o % HIF SEa

3. ¥ T SEET

4 % JUAT SR

Question Number : 57 Question Id : 3354725687 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TIHTET Seg w1 @51 &0g i -

Options:

1. % Zwm & o
2 g aral w1 aE
. % g AE Al

4. % AN AT

Question Number : 58 Question Id : 3354725688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

T TR T T T T -
Options:

1. % greaea vd

2. % FEMTE

3 % gTTE

4 & JE T
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Question Number : 59 Question Id : 3354725689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Tererr ! o T T ST AT -

Options:
1. % amq
2 % dned
3 % dg
4. ¥ srgd

Question Number : 60 Question Id : 3354725690 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Juet T wEd 27

Options:

1. % ST Seeis O weg & a1g | Jodd 3q4 orf § uitad T & od ¢ eroar fosmaT Sque & o gl
2 ST AEET OF SEE & Upel qo%k Ja@ ar § UiEd - 9 od B, ST [EeaT a0 Y o gl
3. % ST A TR ST W BT AR AE o T o gl

4. % gadt g g g
Fural Economy and Fanchayati Eaj

Section Id : 335472146
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 335472146
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354725691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following is NOT a function of Panchayats? | HAATGTET § & @19 &7 &< v &1 951 57
Options:

1. % Policy formulation | =i frerfor

2. % Monitoring of works | &1 &1 [ATRET FAT

% % Supervision of projects | girr=TaT T oidamm

4 % Execution of projects | UHARHTST & YT

Question Number : 62 Question Id : 3354725692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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In which of the follc::win% districts of Madhya Pradesh was an AEZ for potato established as early as in 20027 |
Hewy W o Tgierad Fat § & o Fae # amel 3 o, 2002 &7 qearma § g1 052 &1 S & mE?

Options:

1. ® Bhopal | 9

2. % Gualior | TaETHe
= % vidisha | &fgar
4 % Indore | T2

Question Number : 63 Question Id : 3354725693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What are the functions of Kisan Didi? | T SiEt & a7 &4 51d 87

Options:

1. ® working as agricultural labourer in farmers’ fields | Tt & S # WiAge gt & &0 § B w7
2. % Looking after the farmer's family and dependents | a1 & Oitae o FEET &S89 @7

% % Teaching farmer's children and relatives | Teramt & agl o Tadew! @ T8 Fear

% a:;f Acting as a bridge between Agriculture department and farmers | F19 TR o7 =T & Ter 9w 99 & &0

Question Number : 64 Question Id : 3354725694 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhich among the following states is the largest producer of tea in the country as of 20167 | a8 2016 & TR W
S § FRETET O w0 A7 O O Gad g2l Jq0Tw 57

Options:

1.9 Assam | @A

2. % Maharashtra | AERTE

3 % andhra Pradesh | STl 03
4 # Jharkhand | FIREs

Question Number : 65 Question Id : 3354725695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which among the following is NOT a function of Prograrmme Implementation Agency under Deen Dayal
Upadhyaya Grameen Kaushalya Yojana? | S ST SUTEATH TIHT F19wT AT o d50 a0 ad H & I |91 #dws
WA el TRl T @ TR 27

Options:

1. ¥ skilling & placement services free of cost | 7. O 1w T wieads dar

2. ¥ Granting loans to the aspirants | IFHAZART ®1 0T Ag B

% % Transport & lodging during training | W& & SR Tiag 21 STTETT & 20w F]

4, % Post placement support for 6 months | ToaHT & 918 6 ATE 9% Aga0T Ag T F T

Question Number : 66 Question Id : 3354725696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Corrrittes appointad iI'll 1977 to Sltle‘j.T the working of Panc;l;_t%ati Eaj institutions was under the
chairmanship of _______ | VRITER T TR EETT o TR BT S B & Ty 1977 H g aiat T ST
o T o

Options:

1. # Balwant Rai Mehta | adad €21 HgaT
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2. ¥ Asholk Mehta | S7aTie HgdT
3 ¥ GVEK Rao | Stdtd g
4. % LM Singhvi | Ua. A, TEeEt

Question Number : 67 Question Id : 3354725697 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

which of the following is NOT an objective of establishing Soil Testing Projects at Village level under the Soil
Health Management (SHM) Scherne? | TaTETEa H & @19 | 5aT Ty Fere (TEU=H) T 3 S T &0 0 e
AT O T3 ST TI0AT T S84 5 &

Options:

1. ® Toimprove soil quality and profitability of farmers | TaT Toaaar § G 997 Tt o 60 @ o gy T
2 % Employment generation arnong rural youth | TTEIT Famelf @& sfier T go

3. % Toimprove timeliness in analysis of soil samples | 92T & TAT § T00agd1 § IR

4. ¥ To prevent soil erosion in villages | Tal § BT AW & TEHITH FAT

Question Number : 68 Question Id : 3354725698 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Pani Panchayat is the name first given to a movement started by
1a74® ________ & ERT J& T T SIS Ia T S0 T U=Tara om

Options:
1. % AR Antulay | TSR &g

2. ¥ Vilasrao Salunke | AT G
2. % Baba Arnte | =TET MTAS
4. % Anna Hazare | oG A1

in Maharashtra in 1974. | iEREH

Question Number : 69 Question Id : 3354725699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In India, the Spices Board Act was enacted in: | ARG H, AT A2 2TE—=m o aferfaiia ferar mam em

Options:
1. % 1948

2. % 1958
3. ¥ 1986
4 % 1998

Question Number : 70 Question Id : 3354725700 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

According to the 15th Livestock Census, the total hivestock population in India in 2012 was approximately
_________ rrillion. | 19E TEEA ST # STTER, ARG § Fd 04 AT 2012 # @ o

Options:

1. % 400
z ¥ E1Z
3. % B4=
4. ® 326

Question Number : 71 Question Id : 3354725701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
How many days of employment are guaranteed under the MGNREGS? | A= & f@TTa Tera- fat & TR &1 TRt
ST

Options:

1. 100 days | 100 T
2. % SOodays | S0 fA
% % 2Sdays | 25 A
4 % 70days [ 7O TA

Question Number : 72 Question Id : 3354725702 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

What is SHG? | TR #4757

Options:

1. % Social Health Group | ST T TE
2 % State Hygiene Group | T4 Teoodl 905
3. ¢ Self Help Group | Fe< Qg 99y

4 % sanitation and Hygiene Group | Faegdl &7 TaTe 90y

Question Number : 73 Question Id : 3354725703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Milk & milk products under brand name ‘Sanchi’ is marketed by _______ | AT S AT SR T U g Jeigt @
Tau __ ERT T T 81
Options:

1. ¥ MNational Dairy Developrment Corporation | TE 244 fSema a9

2. % Madhya Pradesh State Milk Federation [ Hea Hga U= g7 49

=, ¥ Madhvya Pradesh State Co-operative Dairy Federation | A W24 T4 ATl S0 &6
4. % National Milk Marketing Federation | T8 grer femm d9

Question Number : 74 Question Id : 3354725704 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Madhva Pradesh Rural Road Development Authority is the EXECutiﬂ% auth%t:]:urit}.r for implementation of _______ .

| eSS AT HE e TererTe WITeree _______ & FH e & TerT femore

Options:

1. % Mahatma Gandhi Mational Rural Employment Guarantee Scherme | ASEAT Tt 996 00 WFATgHe Tl TiaA
2. % Pradhan Mantri Gram Sadak Yojana | Wen= H=f TTH AS® T

2 % Bullock Cart Subsidy Scherne | §7e® ®Te Aiedal T T

4 % Mukhya Mantri Khet Teerth Yojana | & A47 €T o ff Ii=m1

Question Number : 75 Question Id : 3354725705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the name of Animal Health Card issued by government to cattle in all states? | & T=al § @@ 20T
At o To S 9T T O ST W12 T ATH 34T 57

Options:
1. ¥ Pashu Swasthya Card | T3 HaTqed F1
2. % Gau Swasthya Card | T G #128
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3. % Janwar Swasthya Card | SR G #18
4 ¥ Nakul Swasthya Card | 9% qaraed #18

Question Number : 76 Question Id : 3354725706 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which is India’s first fully organic farming state? | 9RT &1 Gl I Ale® a1 0= B d1 57

Options:

1. % Sikkim | F&fgA

2. % arunachal Pradesh | SE0T=R A9
= ¥ Kerala | &

4. % Tripura | BT

Question Number : 77 Question Id : 3354725707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Jai Kisan-Jal ‘Jigyan' weel 15 celebrated D‘}.? [CAR o cormmunernorate the birth aﬂﬂiVEI'SElI"}.F of
AT T HHTE 1 STE S &R o A-ATCAH o THC H AT AT 2]

Options:

1. % v P singh and H D Devegowda | o7 f 7 ofiv 0= 27 2amaT

2. ® Jawaharlal Mehru and Lal Bahadur Shastri | SR Age 1T F76 sSgge JTet
Z. % MNarendra Modi and L K Advani [ g AT 3 e & SIS

4. % Atal Bihari Vajpayee and Chaudhary Charan Singh | 3T g armdT s e o 7y

Question Number : 78 Question Id : 3354725708 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MName of the programme launched for the wouth of J& K under Deen Dayal Upadhyaya Grameen Kaushalya
Yojana? | S STe JUTEIT TTHI F1wT A== & 954 mr@—amﬁﬁfg_maﬁﬁf%q S& Ty T TR T AT SIS

Options:

1. % Jyoti | =i

2. % Sahayog | g

3. ® Insanivat | ST
4. ¥ Himavat | AT

Question Number : 79 Question Id : 3354725709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Where in Uttar Pradesh is Indian Institute of Pulses Research located? | 3a€ TEA § HI9d 560 15g HTh Ured e
(VT T STeT ST Heer) gl e 7

Options:

1. # Lucknow | @&

2. ¥ Kanpur | #¢
3. % Allahabad | EAEETE
4. % Raebareli | TaaT

Question Number : 80 Question Id : 3354725710 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Who should be the head of Social Audit team of the Panchayat under MNREGS? | A= & S/d7(d =T &
HATHTFR #aT TG ool T Gree &= gH?
Options:

1. % 4 person from outside the ward where work is conducted | 799 a2 T FH 5197 5, I0% 9157 FT A

2. % Panchayat President | T=TT a12a4
Z. % Senior most person in the village | T &7 Ha I8 =0T
4, % Secretary of the Panchavat | T=Td &7 T

Cornputer Knowledge

Section Id : 335472147

Section Number : 5

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472147
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354725711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The software program used in computers for exploring the internet is called _________ | TOILET H 5a¥T T
TFETATTT o Tl W 51 el Sdee e Wi ___ HEATIT 5]
Options:

1. % weh browser | o9 g1

2 % yeb server | d9 T9 T

3. % software service | ®TTeday Higw
4 # database | =TTET

Question Number : 82 Question Id : 3354725712 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ADD, MOVE, and CMP are mnemonics used in: | ADD, MOVE, CMP SiaTiga (qgi do) e rgaa s &

Options:

1. ® Programrming < | WOTHTC
2 % CH+

3. ® DOS

4 ¥ aAssermbly language | SRITEAT AT

Question Number : 83 Question Id : 3354725713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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which of the following satisfies the standard policy for strong passwords? | WHATTET # & ®149 qagd THa2 &
ToiT AT Hifd @ \que #ar g7

Options:

1. ¥ Goldfish
2. % goldfiss
% % 5014fish
4. % gold fish

Question Number : 84 Question Id : 3354725714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhat is an Intel core? | 5¢d BT 74T 57

Options:

1. % & Memory Unit | UF THW TFE

2 % 4 Power Supply Unit | UF =T 01T 518

3. % anInformation Processing Software | HamT TR AT
4. ¥ 4 Central Processing Unit | #E @@Te- Ted

Question Number : 85 Question Id : 3354725715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In M5 Excel, a formula starts with: | TA0H. [FaA §, 93 MgT & & 518

Options:

1. % 4 Plussign (+) | @9 (+) g &

2. % Aminus sign () | ®wO(-) AR E

3. % A greater than sign (») | 2T () g
4 Anequal sign (=) | WK (=) TR

Question Number : 86 Question Id : 3354725716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the shortcut key used to select all the contents in a Word docurmnent? | U 92 tatae § Yred fomaaeg 7
T W & Tol] B & g TS T 57

Options:

1. % CTREL +C
2 % CTRL + ¥
3. % CTEL + Z
4 ¥ CTEL + A

Question Number : 87 Question Id : 3354725717 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the use of below tool in Outlock? / 31T3ec]d H feleT Tel T FAT IUANT BT 572

) New |~

Options:
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1. #® Sends the selected itemn to the Deleted Iterns folder | e [T T SMT22H BT 1E6T0S SR BIAST H Tg=maT &
2. % Prints the current item | SdA MEZA &1 T a1 5
3. ¥ Creates a new item, such as an email message or appointrment | 47 sged AT AT g, S Tor SHe dger ar

4 % None of the above | SWigd § & F1E 751

Question Number : 88 Question Id : 3354725718 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is [P Address? | sTgUl UZ3H 47 &7

Options:

1. ¥ Itis the email address for the user’s email messages | % TAEAT & 5-06 G440 & BT S-Aa U229 5T e
2. ¥ [tis the cornputer's address in a cormputer network | 5 FHIET Head H PYEET FTUSed 5l 5

3. % Itisa website's URL eg: www. flipkart com | % da@5e FT AR 51T &, S4 T wwrw, flipkart. com

4, % [t is the SIM number of the mobile phone | I5 AlEEA B &7 97 A=K 5418

Question Number : 89 Question Id : 3354725719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Speed of processor chip is measured in

Options:

1. % Mbps | Mbps

2 ¥ MHz | MHz

3. % Bits per second | TTa Ui d9

4 % Bytes per second | 9150d Wid d%S

Question Number : 90 Question Id : 3354725720 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Inn M5 Word, a character that is raised and smaller above the baseline is known as: | TATT 92 |, g ST AT TAT
THTEIT & ST SeTe o FUT BT 57 5, T #gemar g

Options:
1. % Cutlined | $MITdZ-As
2 ® Raised | ;%

3. ¥ Superscript | UIEHRTE
4, % Subscript | FEEETE

L

Question Number : 91 Question Id : 3354725721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following methods CANNOT be used to enter data in a cell in MS Excel? | THUE UFde §, Faa 89
T 1 Farfer & # Z7 & niat & oy nge e o Sed T 87

Options:

1. ® Pressing an arrow key | URT gl gaT

2 % Pressing the tab key | 3 gl ga=1

3. ¥ Pressing the Esc key | TEET ol gaTT

4 % Clicking the enter button to the forrrula bar | BIHFAT o H 0T s W o @]
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Question Number : 92 Question Id : 3354725722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

which of the following is NOT present in functmn 11brar§.r category in M5-Excel 20077 | FHEET § € #19 TA0a-
TFed 2007 H hfras ager o ARl SUAee gl

Options:
1. # Logical | ATree
2. ¥ Series | &0

2. ® Financial | wEATdae
4 ® Text | Igqe

Question Number : 93 Question Id : 3354725723 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Irn M5 Word 2007, the landscape option 15 available in

dropdown. | TAHTE g2 2007 ¥, [@eT deqay
21T 2T H IUAGH BT 2l

Options:
1. % Page size | U9 @2

2. ¥ Page orientation | U sfgaq
% % Paper size | U0 @12

4. % Font style | B¢ G250

Question Number : 94 Question Id : 3354725724 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is an O35 used in Apple iPhone. | _____ U TSI o U 51 aTaT 0 OF §iaT gl

Options:

1. ¥ i05

2. % Android [ UETOE

= % Android KitKat | UgTas et

4. % LTE

Question Number : 95 Question Id : 3354725725 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The smallest unit of measurement used for measuring data is: | 27 % AU & 00 TgHd 5 a6l Hod §iel SHTs

LA

Options:

1. ® Byte | 9E¢

= ¥ Eit | T

3. ® MNibble | e
4, % BCD | =T ETET

Question Number : 96 Question Id : 3354725726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is NOT an exarmple of application software? | FHT # & $rT UUH e GFecot ®7 Jem
&l &7

Options:

1. # Word processing | 98 WEET
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2. % Computer graphics | FHIET TThET
Z ¥ DOS | ST
4 % Spread sheet | E T

Question Number : 97 Question Id : 3354725727 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

In Page Layout tab, indent and spacing o tlon is availablein _______ group in M5 Word 2007). | U HafTT3T 2a
¥ SEee U AT e TOTATH EEEEE G
Options:

1. % Page Setup | U H2am

2. % Page Background | U9 d90Es
= % Arrange | a9

4. ¥ Paragraph | TRmE

Question Number : 98 Question Id : 3354725728 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The collection of billions of interconnected webpages are transferred by using: | SRl SEd-ges dau= & Tg
S JUAT G ST oy A1 &

Options:

1. ¥ HTTP | HTTP
= % FTF | FTF

3. % SMTP | SMTP

4. % Mone of the above | IUIEd H & 12 51

Question Number : 99 Question Id : 3354725729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

_________ option helps you to save an unfinished ermail without sending it. | _________ @eT arefl g-da = famr
o T8 TTET T # o SETaaT W Bl

Options:

1. % Save As Draft | S0 & &9 § 77T &
2. % Inbox | sqd1HT

2. ® Sent [tems | UNT aMEew

4. % Trash | 3o

Question Number : 100 Question Id : 3354725730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which option lﬂzﬁfOOflﬂ tab 15 used to checlk the spelling mistales in MS Excel 20077 | THITH L’ﬁ@ﬂ 2007 ﬁ,
ﬂzr%% %:r T 2 H 1 AT e d W BT a7

Options:

1. ¢ spelling | fgufem

2 % Research | fra=t

% % Thesaurus | EEwd

4. % Translate | TT8&T
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